Date: 20201007

: Py
Run: 12 | Aligned spectrum (DOWN)  |mes e
. % - Mean 45.45
Module: 257 000 | stwoey st
3500F-
FWHM: 4.98628 keV &
Dead ch: 0,1,2,3,4,5,6,7,8,9, 10, 11, 12, 13, 14, 15, 1 E_
500
17, 18, 19, 32, 35, 41, 52, 55, 66, 70, 72, 75, 92, ¢ F
2000
112, 115, 132, 135, 152, 155, 172, 175, 192, 195, 21 F
1500
215, 232, 235, 252, 255, 256, 259, 276, 279, 296, 2¢ E
316, 319, 336, 339, 356, 359, 376, 379, 396, 399, 41 1000?
419, 436, 439, 456, 459, 476, 479, 492, 496, 497, A< 500?
Cova b Lo o VT T s b aa Ly L 1 1
499, 500, 501, 502, 503, 504, 505, 506, 507, 508, 5( G0 10 20 30 40 50 60 70 8 90 100
Deposited energy (keV)
510, 511
Gain: gainADCtoKeV257.txt
| Gain by channel (DOWN)  s—1 Gain distribution (DOWN)  e—
~ 100~ T M 0 w = M 68.37
% - ik, sﬁﬂag. v 0 g 180: S:!alr;ev 36.05
5 L L N " 2 160~
2 A 1600
= 80 140
- 120F
g r F
© 60— B
L 100—
r 80
40— C
L 60
20 40
L 20— H
oL 0 T ! P\ T O O Y I R
0 100 2 300 400 500 0 20 40 60 80 100 120 140
Channel # Gain (ADC/keV)
Noise by channel DOWN) o5 | Noise distribution DOWN) s s
fm Mean 254.2 ﬂ 90 — Mean 2904
E C Std Dev 1434 = i I Std Dev 0.9728
2 g = E
o 6 80F-
3 "k
3 S E
B r 60—
= = £
4 50
. 405
3= =
- 30
2 205
: 10—
L i I s B B [ 1= I S PSS A o PN P I L% i SV
0 100 200 300 400 500 1 1.5 2 2.5 3 3.5 4 4.5 5
Channel # noise (ADC rms)



Hit map

10

X (mm)

-10

o_o:,fhfu_,_b.,_,nﬁ_,_%_,nr:_ or__,
A B

=]

—

(urur) £

=l
T



